ELECTROMAGNETICS | FIRST MIDTERM EXAM

Dr. Salih FADIL October 17, 2012

#1)If P(1,2,-3) and P,(-4,0,5), find:

a) a point P, such that points £, P, and P, on the same line and the distance between

P and P is 20.
b) The shortest distance between the line and point P, (7,-1,2).
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#2) Two uniform vector fields are given by E =—5a,+10aq, +3a, and F'=a,+2a,-6a,.

Calculate:

a) the vector component of E at P(5, —g- 3) paraI‘IeI totheline x=2,z=3

b) the angle E makes with the surface z=3 at P.
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#3) Consider the line integral (_f—-—\/_z_;_.z—.df where L is a circle of radius a in xy-plane,
x“+y

L

with center at the origin, traced out counterclockwise as shown in the figure. Express the
integrant in cylindrical coordinate system first and then calculate the line integral
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GOOD LUCK...©
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